§7.6 Product-to-Sum & Sum-to-Product Formulas

REMEMBER YOU KNOW ALGEBRA'!

Product to Sum Identities

sInoLcosf} = % :sin(oc + B) + SiH(OC - ﬁ)]
cosocosf = 1 ‘cos(a+p)+cos(a—P)]

2
1

sinousinf} = , [cos(a.—PB) - cos(a+p)]

coso.sinf = %[sin(oc +B)—sin(o.—p)]

Example 1 Rewrite as a sum or difference.

a) sin(60)sin(40) b) sin(30)cos(50)



Sum-to-Product Identities

SINX +SINy = ZSin(X ¥ y)cos(

Jol

SINX —SINy = 2005(

COSX +COSYy = ZCOS(X;y)COS( 5 )

COSX —COSy =—2 sin(X ; y)sm(x ; y)

Example 2 Find the exact value of c0s195°+cos105°

Example 3 Express as a product: cos(30)+ cos(20)




